Copyright 2017, Aleph Objects, Inc. CC BY-SA 4.0

Version Date Description

IR 6.4.17 New part number for silkscreen version

, 9 NOTES(UNLESS OTHERWISE SPECIFIED):

° 0 1. ALL COMPONENTS RoHS COMPLIANT

2. 3D MODEL GOVERNS DIMENSIONS NOT SHOWN ON PRINT &~ 1mm
3. MATERIAL: 5052 H32 AL, 2.03 MM THICK
vy 4. BREAK ALL CORNERS PRIOR TO POWDER COATING
5. MASK ALL THREADS PRIOR TO POWDER COATING AND
SEE PAGE 6 FOR FURTHER MASKING DETAILS AND WHERE

Q\ OVERSPRAY IS ALLOWED
o

2  COATING THICKNESS: 0.05mm T0 0.Lomm 0
. U, mm . mm
. z
N NEZ
=N |
\§§ ’

N

REV DATE INIT NOTES e

A 3/12/18 SAW Adjusted silk screen dimensions and tolerances pages 7,8 ' SAW 12/6/17 “ AL E F H G2 westoqth seer
. oveland, Coloraao ,
Page 3 Insert locations now feature instead of edge based. = MATERIAL:

2.03mm AL < OBJECTS Phone +1-970-377-1111

INCORPORATED www.alephobjects.com
UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS. | T|TLE

TOLERANCES ARE:
ecmns  mass | ELECTRONICS CHASSIS
.)ix%:zs } SIZE DWG NO. REV.
ek A PP-FP0142

BREAK EDGES 0.1/0.5 SCALE

FILLET RADIUS 0.1/0.5 N/A | DO NOT SCALE DRAWING °HEET 1 g



Copyright 2017, Aleph Objects, Inc. CC BY-SA 4.0

100.6

" 140.0 >‘
1—“:[0 o o
ol © O Jo
o
o o
o
g o
N~
q
o o
o
o
ol O O Jo
Y s 5 Y
= 12.0

o 12.0

J

‘1NIN

480.0

170.0
|
0]
o o
o o
©
©
©
0]
TITLE

ELECTRONICS CHASSIS

SIZE DWG NO.
A
SCALE /A

Weld and grind 4 edges to mimic bend radius

o (o]
(o) O,
ea2oR8A69C

O
O
O, O
OO %oo
o o
o
D °®°
() (o]
o
o o
)
o o
\_/
o o
o= e
s Y e

PP-FP0142

DO NOT SCALE DRAWING °HEET 5 ¢ g

REV.
A



Copyright 2017, Aleph Objects, Inc. CC BY-SA 4.0

4 X TSO-M25-1400Z1 BLIND INSERTS
INSTALL STANDOFF TOWARD INSIDE

40X R1.65 SHARP CORNERS ACCEPTABLE
. /
i (0 A A
gi &N N :ﬁ AN N
x
<
4"_ ) ’_ VIV
oy | nEndnir o
o Sl Allalle 5| S
s (| Ufupunu
o || nlntntn
x
y
A .
m
) ?13.0
e 94.75
3X 12.5
110.0 |
140.6
-t |
TITLE
ELECTRONICS CHASSIS
SIZE DWG NO. REV.
A PP-FP0142 )y

SCALE \/A | DO NOT SCALE DRAWING °HEET 345 g



Copyright 2017, Aleph Objects, Inc. CC BY-SA 4.0

2 X S-M3-2-Z1 PEM NUT
INSTALL FROM OTHER SIDE

4 X 23.81 THRU
6.0, 90 DEG CHAMFER

@5.0 THRU

SEE 3D BODY FOR DETAIL

@4.0 THRU
33.000.0
e 4 X @4.0 THRU
- 2 113.5 _ ©
a < 14.0 2 / S
m
/ | Y
i ¢ - ¢ -9 i I
A3 | f
o MA 38 UITUL|L | 10
Rl oy 2 1UNUS ! ® = ~
R ) :
« | * l °°I
Y o—H — — ) Y t * T@ & Y
T | | | :
o
14.0 " o S| | 1n|28.52 _930.7
N ~ N 10.0
80.0 2 X R10.0 - 10 - 715 : -
. > - 200.0 o
95.0 150.0
- > @3 FOR FHA-M3-10 FLUSH HEAD STUD
INSTALL STUD TOWARD OTHER SIDE
6 X SOS-35M3-12 STANDOFFS
INSTALL STANDOFF TOWARD OUTSIDE
TITLE
ELECTRONICS CHASSIS
SIZE DWG NO.
A PP-FP0142
SCALE NJA | DO NOT SCALE DRAWING °HEET 408

REV.



Copyright 2017, Aleph Objects, Inc. CC BY-SA 4.0

4X BSOS35M3-12
PEM BLIND STANDOFFS

5X@4.2 THRU

o
0 2X 94.0 INSTALL STANDOFF INSIDE 8.0, 90 DEG CHAMFER
< .
S /
\ B A —
A A m
'\ 0 ¢ - (@) - - - — 1 :
g o
o ' )
N N | © I &
— o §
| o
§ ' ' mV Y
(@) ' o — - - - - - - _ _ @ o
o < =
~N ¢ P LN
X . Y X
N
2X 26.25 = 2X 230.3 111.0 2X 48.7
- = - 4X S-M5-2-71 PEM NUT 1392
- 2X 448.75 - INSTALL FROM OTHER SIDE
. - 2X 450 £0.5 — FHA-M3-10 FLUSH HEAD STUD
+ o |4 2X 310 £0.5 INSTALL STUD TOWARD OTHER SIDE
o ©
< 3 Eoacsosos B o
A I-QA S e — - - —— — — — =S — — — —o i
I N L ° 1
; T} 4 £0.5
?I °>C<’ ° ° |
g W | ° |
= Y T
§ | o) i
Y . l o o ) o |é
?I y L_; o- — — - — — — — — - o0 |
o |
S
14 X S-M3-2-Z1 PEM NUTS TITLE
INSTALL FROM OTHER SIDE
ELECTRONICS CHASSIS
SIZE  DWG NO. REV.
A PP-FP0142 A
SCALE NJA | DO NOT SCALE DRAWING °HEET 5458



Copyright 2017, Aleph Objects, Inc. CC BY-SA 4.0
MASK ALL FOUR TABS INSIDE EDGE TOWARD
OUTSIDE 7.50 MM WIDE

POWDER COAT OUTSIDE OF CHASSIS

-

@

OVERSPRAY ALLOWED INSIDE

TITLE
ELECTRONICS CHASSIS
SIZE DWG NO. REV.
A PP-FP0142 A

SCALE \/A | DO NOT SCALE DRAWING SHEET g ofg



Copyright 2017, Aleph Objects, Inc. CC BY-SA 4.0

280 x2

28 £2

\J

\J

) (

) (

i |

|

) (

\J

) (

) (

\J

\J

\J

) (

) (

\J

\J

20.3 %2

GRAPHICS NOT TO SCALE. FOR REFERENCE ONLY

Silk screen PMS 877C metallic silver

TAZ_silkscreen_Back_LulzBotTAZ6_On_Off.svg

59 +1

—P
~_/O
9\
@)
@)
00O
000
O000
OO0
OO0
0\
O
[5)

®)
Q
@)@
®)

@)

©)

@)
OO

a0

2x 3.0 PQO

) 4
®)
O)e'®,
(@)
©)

ole)
Nex

N

\_

VA

Silk screen Enthone 50-700R black /

TAZ_silkscreen_Back_LulzBotTAZ6 Octopus_02.svg

Silk screen PMS 877C metallic silver

TAZ_silkscreen_Back_LulzBotTAZ6_LulzBot_TAZ.svg

20.3 =24 >
@)
O
O
@)
OOO
OO
OO
@)
@)

TITLE

ELECTRONICS CHASSIS

SIZE DWG NO.
A PP-FP0142

SCALE \/A = DO NOT SCALE DRAWING >HEET

7 of 8

REV.



Copyright 2017, Aleph Objects, Inc. CC BY-SA 4.0

+2
355 -1
<] >
280 +2
<
50 +1 37 1 3.0
< > « o
>—1< +
e Tj | : 3\
30> c oY 0o Q o
° ° ° a7+ [Je=—L1° 9333300,
_ LR T 0200905950
:; Q 2 + 39: N @OOO OOOOO OO
85 o) ™~
2 U U v §-‘ ‘-ﬂ I~ OOOO O OO
—— 12 2] A 5:,8 o — — 0]0.0)0) 000
4 [ ]E ©) O H OO%OO OO o0
o A = 2 5 ‘i s G’(g)QOOOoOOOQ%O
HSES) 3 2 093502a°
ég (R \° O O °0 \ N o ~“O00R0O0T o
m
@ N o

17.5]*1

\Silk screen PMS 877C metallic silver
P TAZ_silkscreen_Back_LulzBotTAZ6_USB_Extruder2.svg

290 =1

|
T

Silk screen PMS 877C metallic silver
TAZ_silkscreen_Back_AOLogo.svg

Silk screen PMS 877C metallic silver
TAZ_silkscreen_Back_Certs.svg

Silk screen PMS 877C metallic silver

TAZ_silkscreen_Back_LulzBotTAZ6_sticker_area.svg

GRAPHICS NOT TO SCALE. FOR REFERENCE ONLY

TITLE
ELECTRONICS CHASSIS
SIZE DWG NO. REV.
A PP-FP0142 A

SCALE \/A | DO NOT SCALE DRAWING °HEET g g



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8

